W <Fvir— ? {m[‘j;:l\aﬂml---zolgéﬁnf;ﬂ 21 A
T Kaew Comnesiions P Ij:—fDAJ:GANTZZ [AT2]---2021 %03 /] 07 A

[AT2] FEEE =1/90.9 (1/44.6) FEZE / EA =1.0% - % =76.0% EHR=REEZ -500@ EIK =12124&3&186&10
[#7AL)<EA > =2000ExELHE - <FiE>=370HE%k

WY A7 - VRL—7 /%0 RUSH
MR R- - 2L
WA R AT — Al
WRE - - AEIEE L
W5 AREE -8
W30
(FEH@) =1/1.21
W LTS

o QL [AT2])( L6fE /10C)
L ( F10{&@ /10C)
- E3R---150 {8
- E4R---200 {E
/ . E5R---250 {&
/ 10R" - 700 {&
(x E5R+ TF5ER)

. " — wh—1
WiES ROt ER M@ ”W:t_ii*%i?’_"_"i’:—‘»' e

< WA —FRA >

[E#ESaL—2a))
<SBERTEMHN= »H E>

OZFIAE, [EAMER] CRYES, [BEAEM] TOEREECET, Presented by TKC (HRSH b1« )0 - afdiagrX)




